d=0.075, 0.1, 0.3mm

0.1m/s

d=0.3mm Im 28cm
d=0.1mm 13m 9cm
d=0.075mm  23m 6cm




0.25m/s

u=0.25m/s
&>
» i 4___————::::L—————””/1
d=0.3mm OFn éim 3ém S%m
d=0.3mm 4m 18cm
d=0.1mm 32m 4cm
d=0.075mm  57m 3cm
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kg

D
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200kg 2mm
0.075mm
2mm
1 Im><1m
1/20

1cm



(4)

a
a
19C )
1 2 3 4 b
1HI0A 1AL17H| 1H270| 2H8H| 2H228
Bl | Ihr] VR HE DHE|  2dH]  4@A[  eME
al] N | L6m[ 0.36 | 373.75 s - -
J. On I Y ) - -
5. O | -l 0,78 0.13 - 0.11
. -l 010 0.00 I
15. Om = - -1 0.00
\NE bm - - 0.9] -1 0.00
7. 6m - - 0.28 0.00 -
E | Lfm| 6.09 078,75 | - - -
3. 0m - 14, Al - - -
E. O 1. 90 .52 3 26
7. bm - - .15 0.08 -
15. Om — - 0, 00 -
SE | 65.0m[ + -1 - - 5,19 |
T.bm - - 0.92 -
5 | 1.5m| 13.04 4. 54 - - s
3. Om -l 0.13 - B
5.0m| * 0. 60 0. 44 - 5,35
| 7.5n - - - o0.73 -
15. On - - 0. 00 -
Wl 5.0m - -1 - 0. 60
7.5 = - -| 013 -
W | 1.5m| 569 |  1.93 . - -
3. 0m - D06 - - =
5. Om -l 0,00 0.00 | - 6. 92
7.6m] - - -l 0.30 -
15, Om - 0.00 -
NW | 5. 0m -1 - = 07
7. bm - - - 0. AN Z
TN 1 12 8 2
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